2016 FORD SUPERDUTY
— ‘ FUEL FILTER GUARD
“RECESION Mounting Diagram
DES\GN & MANUFACTURING PART #700338

IMPORTANT:
Manufacturer is not responsible for negligent use of vehicle with Filter Guard Installed,
Including over-tightening of screws and bolts causing damage to vehicle or guard.

PN
=
= _— ;;3
= & Z CAPSCREW
= %@v/ = 3/8" X 17
= <v<§§/// -
= <§5$ =
Sl
= — - i;£<§
/ | /904/
.7 A
= // _—

- /H\ N> FACTORY HOLES
(PSP
< - )
N Vi
@@@‘ \t // ‘ ‘

~_ ¢ )
/ | FLAT WASHER
FUEL FILTER

- @ 3/87 x 17
PARTS BAG LIST #701497 ‘ LOCK WASHER
3/8"

(2) Capscrew, SS, 3/8”x 17 Part #014038

(2) Washer, Flat, SS, 7/16” x 1” Part #018034

(2) Washer, Lock, SS, 3/8” Part #024006 © |

(2) Nut, Hex, 3/8” Part #025015

Stainless Steel Parts HEX NUT

(1) Fuel Filter Guard Part #702271 3/8”

FUEL FILTER GUARD (DRIVER SIDE)
PART # /00338




